E 0 & AFHE®E B M A

SRR}
My MKE RY
EHel: =X EAY (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
=iy 14,102,100 13,337,492 764,608
= 4,235,075
& 1,675,422
< 1,614,897
s 6,576,706
ME TR 4 14,078,030 13,313,422 764,608
= 4,235,075
& 1,675,422
< 1,614,897
fia 6,552,636
=AMLY 6,933,182 5,786,745 1,146,437
= 3,216,185
& 637,622
= 873,570
s 2,205,805
MEILGAMYE 2R 93,686 91,258 2,428
101 @124 dl 46,656 44,028 2,628
04 JIZHHZ2Z2XNESE S+ 46,656 44,028 2,628
ORxY 2% el ALY
38,8803 *40H 30 46,656
201 Let249] 6,200 9,400 A 3,200
01 At 22l 6,200 6,400 A 200
Oget=gH| 2,120
—2EHUE ¥ sEAMY HM=ES WEH
2,500& »2000H 500
— MAIEIS 2 & AFZEALY DI S AtEI QI 5t
2403 «3,0000H 720
—gUR B33 258& 300, 000& »3CH 900
OXMASAZE A28 P2
5,000& *53 *40H 1,000
o2g+g 280
~SEAY UUSWAAS HAS
70,000& x4 280
O=gtl 2,800,000& 2,800
202 (44l 8,640 8,640 0
01 = LH 4 1l 8,640 8,640 0
Oodgdxd N g2F 8,640,000 8,640
206 M= Hl 27,200 27,200 0
01 M= 4l 27,200 27,200 0
OAZY J|EA 4 227 2,5009 +4,0002 10,000
OUSUS0FI #A8 22729
2,000& +8,0002 16,000
OXtda=a2e & +¢ 240,000& 53 1,200
301 et a3z 1,990 1,990 0




SA A
B A
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el

A B3-S (3AH) - MIRAY - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

10 HALA B2 A2 1,990 1,990 0
30,0003 x33& 990

10,000& 100 1,000

| & 3,000 0 3,000

0
02 2I2HTH & A HI 3,000 0 3,000
OASLAMN 2 3,000,000& 3,000

TEMEXHA 714,626 438,944 275,682
400,357

96,451
217,818

U RN

401 AIEBIZ 2 CHYI 676,571 400,888 275,683
370,760
93,914
211,897

Mo

01 A€ HI 661,217 397,872 263,345
O=HIEX A 661,217
2Bk X2 (28ha) 53,917,000 53,917

32,650
6,525
14,742
— MEf X & (29ha) 115,832,000& 115,832
88,902
8,331
18,599
—Htol=&8 X4 (30ha) 83,070,000 83,070
55,098
8,618
19,354
U3 =8 (7ha) 79,125,000 79,125
39,008
13,550
26,567
— XA 2el(55ha) 23,986,000 23,986
16,984
2,183
4,819
— &HE TH Ol = 2 = & (34ha) 176,936,000& 176,936
35,387
42,465
99,084

H A HHn HH A HHn A H N

MW

128,351,000& 128,351

100,548
9,139
18,664

02 2feldl 10,000 0 10,000

Mo R
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e
SYTE S4
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= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O=HIEXAY 10,000
— Mol =+ = & (34ha) 10,000, 000& 10,000
=2 2,183
< 3,103
i 4,714
03 A& 2 THHI 5,354 3,016 2,338
O=HIEX ALY 5,092
— ZH =Bt X & (23ha)
54,407,000& *0.90/100 490
— ME} Z 2 (29ha) 116,673,000% *0.72/100 841
— Hlol@#8t2 x4 (30ha)
83,825,000% 0.90/100 755
—2uezo X8 (7ha)
79,844,000% 0.90/100 719
— MRITHOH = R X 2 (34ha)
188,292,000% *0.72/100 1,356
—Sg8Xa =X3 =2 (30ha)
129,282,000% *0.72/100 931
O3HIEx= At 262
— =84 Zel(55ha)
24,248,000& *1.08/100 262
402 RI2EXt20l ™ 38,055 38,056 A
= 29,597
< 2,537
[ia 5,921
01 IZEAI 22X 38,055 38,056 A
O=HIEXZ ALY 38,055
—SEFEXN Z=8(15ha) 38,055,000& 38,055
= 29,597
< 2,537
s 5,921
&Xl2el X2 6,240 6,240 0
201 Yot 2 Y| 3,000 3,000 0
01 At 22l 2,100 2,100 0
O= &l 2,100,000 2,100
02 =224l 900 900 0
OA&EHl s Xl 900
— =3I JIASE =cl 45,0003 = 10CH 450
— =R olFOl el 45,0003 «100CH 450
202 O4dl 3,240 3,240 0
01 =L 4 Hi 3,240 3,240 0
odgolg N g2F48 3,240,000& 3,240
ZAPIIANAX 4,928,740 4,133,971 794,769
= 2,751,328
< 621,135

w
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SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
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0y

HJ

1,556,277

101 @124 H] 140,870 167,480
84,286
16,861
39,723

N26,610

Mo A

04 DIt 22 XS+ 140,870 167,480
O=HIEX A 140,870
<@

— SYHOI20A £F 9l

N26,610

106,770,000& 106,770
64,062
12,816
29,892
34,100,000 34,100
20,224
4,045
9,831

MR

U AT

(o8]
2
ne
e
HT
0x
oy

3,200 4,000 A 800
3,200

H

3

0

>
=
MK
S > o
O e ol

3,200 4,000 A 800
3,200

O
W
S

|
rx
o
[=s

bl (8Y)
0,000& 3,200

3,200

w
N

H

401 AIEHIZ 2 HYI 4,784,670
2,663,842

604,274
1,516,554

3,962,491 822,179

MW

01 A€ dl
O=HIE=At
— = IR Il Ate(3500ha)

— X2 A= 22| (170ha)

02 Zeldl
O=HI2 XA
— = IRl A+ (3500ha)

03 Al S THHI
O=HIE XA
— IRl Are(3500ha)

4,436,981,000&

137,164,000

183,160, 000&

4,632,650,000& *0.27/100

HH A

Mo H

Mo R

,574,145
574,145

,436,981

,487,190
556,715
1,393,076

137,164

76,755
18,421
41,088

183,160
183,160
183,160

91,580
27,474
64,106

27,365
27,365

N o~ B~

12,509

3,782,133

157,072

23,286

792,012

26,088

4,079
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SA-3H-S(3AH) - MRAS - BES Off &t 24

=
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138, 159,000& *0.72/100 995

13,861,000& 13,861
8,317
1,664
3,880

Mo R

ol
(=]

1)

1A EHI

H
il

129,000 104,000 25,000
64,500
19,350
45,150

Mo R

405 TtobFH S| 129,000 104,000 25,000
64,500
19,350
45,150

Mo A

| S bl 129,000 104,000 25,000

o 129,000
@ Pe(1) 63,000,000% 63,000
31,500

9,450
22,050
— 48012 L (1) 16,000,000 16,000
8,000
2,400
5,600
—-s2E8 (1) 50,000, 0002 50,000
25,000
7,500
17,500

H A H

MW

0o
H
>
18]
P}
0

910,890 973,087 A62,197

637,622
136,634
136,634

Mooy

101 1Al 15,600 15,600 0
10,920
2,340
2,340

Mook

&= 15,600 15,600 0
LHSEIAHAS 156,600
¥) 15,600,000 15,600

10,920
2,340
2,340

o
~
J
v
=
ry
12 H
>
20N
H

Mo ook

401 AIEHIZ 2 I 895,290 957,487 A62,197
626,702
134,294
134,294

HJoH ook

01 A& HI 888,681 950,314 A61,633




SRR}
M MUY ]A
EHel: =X EAY (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OZAXNALHELE S A ALY 888,681
— & & (2km) 268,030, 000& 268,030
& 188,982
< 40,496
i 38,552
— U AIA (2km) 443,859,000 443,859
& 312,954
< 67,062
[ia 63,843
— AT A ZINE(2.0km) 132,278,000& 132,278
& 93,266
< 19,986
e 19,026
— 2 & B4 (10km) 44,514,000 44,514
= 31,500
< 6,750
[ia 6,264
03 Al 2 THHI 6,609 7,173 A 564
OZIAXNALESEBHAS 6,609
— &2 & (2km) 269,974,000& *0.72/100 1,944
— & A A (2km) 447,078,000& *0.72/100 3,219
— A= 2 ZINE(2.0km)
133,238,000% *0.72/100 960
— 2 & 84 (10km) 45,000, 000% *1.08/100 486
A FHIAY 150,000 0 150,000
401 Al HIZ 201 8] 150,000 0 150,000
01 A& HI 148,920 0 148,920
OYEHe 148,920,000 148,920
03 Al 2 THHI 1,080 0 1,080
OYgEHa 150,000,000& *0.72/100 1,080
Qa2 ASKEH 1,000,955 1,220,685 A 219,730
= 442,000
=) 108,022
e 450,933
STHOIENS XA 37,200 46,060 A 8,860
= 19,570
= 5,289
s 12,341
401 A& HIZ 2018 25,920 0 25,920
= 14,400
< 3,456
s 8,064
01 A& HI 18,400 0 18,400
O=HIEXAY 18,400
—UAS+SAA 22l AIE A (15ha)
18,400,000 18,400
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10,080
2,420
5,900

02 Zrell 7,520 0 7,520

o 7,520

=7 22l A A (15ha)

7,520,000 7,520

4,320

1,036

2,164

Mo A

Mo A

402 BI2HX=01 M 11,280 46,060 A 34,780

5,170
1,833
4,277

HH A

EES 11,280 46,060 34,780
EAY 11,280

- B3 2UR(FHE) 23 (20)
9,400,000 70/ 100 6,580

2,820
1,128
2,632

o R

4,700,000 4,700
2,350

705
1,645

Mo

ot
[
10
1]
m

420,529 407,785 12,744
239,760

54,230
126,539

Mo R

402 212t A= 01 & 420,529 407,785 12,744
239,760
54,230
126,539

Mo R

01 lz2tXt=28 = 420,529 407,785 12,744
HIE2 AL 420,529

g2 22l (194ha)

250,460,000 *40/100 100, 184
50,092
16,027
35,065

MR

— 2 X AR U X2 (100H)

120,000, 000& =40/ 100 48,000
24,000
7,200
16,800

Mo W

|
b
o

24 A X3 (4ha)
40,000,000& *40/100 16,000

8,000

H
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2,400
5,600

Mo

— g S MazH X (13L)

91,900,000& %40/100 36,760
18,380
5,514
12,866

MW

—SUAAE AIA X2 (34km)

170,000, 000& =40/ 100 68,000
34,000
10,200
23,800

M

— 2UR E2IHE(150ha)

42,302,000 *90/100 38,072
29,612
2,538
5,922
— & M H=2=x=4(27ha) 113,513,000& 113,513
75,676
11,351
26,486

Mo

HH A

0°
rx
1]
0z
rx
pal
{0

416,910 109, 340 307,570

102,730
34,590
279,590

HH A

401 AIEHIZ 2 HYI

160,000

160,000

01 A& HI
Yaoet =49 148,920,000&

03 A& R
A

150,000, 000& *0.72/100

148,920
148,920
1,080

1,080

148,920

1,080

402 212t A= 01 &

Mo R

266,910
102,730

34,590
129,590

109,340

157,570

01 etttz

83 (1HA) 10,000,000 *40/100

— HDTHBHAIE (49H2) 70,400,000 *40/100

-2 Z2EIANE(2HA)

40,000,000& *40/100

H A HHn

Mo

266,910
171,910
4,000
2,000
1,000
1,000
28,160

14,080
7,040
7,040

16,000
8,000
4,000

109,340

157,570

oo
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4,000

e

i

a==) E2IH 2 (2ha)
9,500,000 *90/100 8,550

6,650
950
950

HH W

144,000, C)JO%*80/1OO 115,200

72,000

21,600

21,600
= =41z NE 53,000,000 53,000

HOSYHX MUIAF 2E2E XI&

60,000, 000& 70/ 100 42,000

A

MERSKEH 126,316 32,500 93,816
79,940
13,913
32,463

MW

o
N

iy
r

402 tXE0ld 126,316 32,500 93,816
79,940
13,913

32,463

HoH W

= 126,316 32,500 93,816
Ab S 126,316
A L HAXZAA (ML)

120,000,000 *40/100 48,000

24,000
7,200
16,800

B

it
O re
o
o
i

|
0

z H

0
Mo

Mo H

|
Pl
Mo
0
e
°
=
Of
ogr
\J

1A K& (200 &)
111,880,000 70/ 100 78,316
55,940
6,713
15,663

0!

M A

>
]
-
[0
H
fol
s}
m

3,110,997 2,944,960 166,037

546,890
37,800
226,305
2,300,002

Mo o

Aral g

(A= ]

A 1,519,746 1,444,144 75,602

fol

101 1Al 1,076,802 1,012,936 63,866

04 JI12ZtHNZ22 s+ 1,076,802 1,012,936 63,866
OdEJI8s ZAE 820,240
—Jlz2s 38,8803 «101&8 150 589,032
—Frdg 38,880& x101H 36 141,368
itHEEE 730,399,680 *x12.3% 89,840

Otz ZAE 251,845




SA: A
My MKE RY
el MERE 2se CER-ED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
—-JI=23 38,880& *28H x 166 180,715
=gasy 38,8808 x2821 %402 43,546
-4l B8 = 224,259,840& x12.3% 27,584
OgLIR axsgH &ojotd 22| of 4,717
—-J23 38,8803 x2H x45! 3,500
—FsdY 38,8803 x2Y x9A 700
-4l EE = 4,199,040& *12.3% 517
201 LEt2AY| 14,810 12,570 2,240
01 AFR2t2l bl 7,620 6,220 1,400
Ogt2H| 3,620
—MEYX PEI FALER
10,000& =150 CH 1,500
—AEAIYE Hel s 284 ,000& x53] 1,420
—MERSA EE Y 24 700,000 700
OZ2 &l 4,000,000& 4,000
02 =294l 7,190 6,350 840
O332= % HA 2,040
— 20 SAtE JD|e2 175,000& *4 2 D| 700
— MEE2ZAIIH0HCH MIle= 50,000& x4 2 | 200
—MERM SEe3 25,000 x12& 300
— EHASAIZ HIE0 MIR2B
70,000& x12& 840
OAl& &Yl KXYl 5,150,000& 5,150
202 04| 6,912 5,184 1,728
01 2LHHI 6,912 5,184 1,728
OttelEs XN g4FFA 6,912,000& 6,912
203 PR =&ly| 2,500 2,500 0
03 Al F=X SR =AH| 2,500 2,500 0
OAtH AR L M THol HR2F& 2,500,000 2,500
206 M= Hl 96,230 96,230 0
01 &2 bl 96,230 96,230 0
OAtE2 XA APZ2rgr HI& 10, 000& *3800H 3,800
ONdtE2 X4 39 60,0002 = 180K 1,080
ONMSXEA HSEE 20 5,000& *1700H 850
OALAX MHH(L=E 5) 2,000& *5000H 1,000
ONEZANE RRPY 5,000& 100 x 168 84,000
OM=sZAE II=72Y 55,000& x100& 5,500
301 dBtE A= 5,000 5,000 0
12 J|EtE &2 5,000 5,000 0
ONEZANE D= 10,000& x 100X x 13 1,000




SRR}
M NYKE §Y
Chelr AE Y B3 2e] (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O&=&st A GI2tel 2at
5,000& «32H #2532 4,000
303 Z&3 5,000 0 5,000
01 243 5,000 0 5,000
OL2LX =58 AMYS 5,000
ES 1,000,000& 10 S & 1,000
-2 700,000& x2S 1,400
— & 400,000& x4 S 1,600
—JIESd 100,000 1001 S & 1,000
308 X XIEHH SOl A 172,492 159,724 12,768
05 XMUY= 172,492 159,724 12,768
O¢2e Xl dIIex 23 167,250,000 167,250
O«&tEdsteld s & Eot 5,242,000 5,242
402 RI2EX=20l A 140,000 140,000 0
02 QI2HCH & AL HI 140,000 140,000 0
OBLIR $TYH 547 & Ha+42
140,000, 000& 140,000
St gz 75,572 279,600 A 204,028
& 37,800
< 11,332
s 26,440
401 A& HIZ 201 Y] 75,572 279,600 A 204,028
& 37,800
S 11,332
i 26,440
01 A& HI 74,891 277,306 A 202,415
OZAXNALESESHAES 74,891
— S&tzE =4 22| (2.4km) 74,891,000& 74,891
& 37,800
< 11,332
i 25,759
03 Al SR THHI 681 2,294 AN 1,613
OZAXNALNESESHALS 681
— S&E ZH2el(2.4km)
75,572,000% *0.90/100 681
25+ FHIAY 55,510 55,510 0
< 9,920
[ 45,590
401 AIEHI L 2 CHYI 55,510 55,510 0
< 9,920
[ 45,590
01 A& HI 55,010 55,010 0
OZHIEXZAY 55,010
-85+ HHl(13&2) 55,010,000& 55,010

_11_




SN MDY
M MY T4
chel: MEE Bsal (chel & 9l)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 9,920
s 45,090
03 Al S THHI 500 500 0
OEHIEXAY 500
— 852 FUI(13=2) 55,510,000% «0.90/100 500
A= 2RI CH 2 903,537 594,788 308,749
= 361,416
< 161,927
s 380,194
101 1244 dl 351,656 421,988 AT70,332
= 140,663
< 62,588
s 148,405
04 JIZHHZ2XREES 351,656 421,988 270,332
OZHIEx= At 351,656
—MEMBHLES(50Y) 315,000,000 315,000
= 126,000
< 55,991
i 133,009

—MEMBUHYESH &L (5Y)

1,250,000& 1,250
500
225
525
—4HEE = (50) 35,406,000 35,406
14,163
6,372
14,871

Mo H

Mo

N
2
e
%
M0
02
o

43,610 23,900 19,710
17,444
7,850
18,316

U RN

01 AtR 22l | 25,300 8,950 16,350
O=HIExX At 25,300

— & 3t = AHI(860E) 4,300,000 4,300
1,720

774
1,806

|,

r
W
™

HH A

— oAt SAE(1HA)
5,000,000 5,000

2,000
900
2,100
P 16,000, 000& 16,000
6,400
2,880
6,720

18,310 14,950 3,360

|
[
MW
o
bl
T
om
_>'{_|
0y
0o
HH W MW

o
o
i[5}
1[3]
HO
02
=
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el
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p=lp= |
Mo o

HL 10

ol 0x

]

=

!

BB () - HRAY

ESS

=

i
2m

HL
P

t

1%

O=8l
— A

0

A
A

s

b
o

(i)

I

L RIRZAAIAE

Sl (1150H)

14,950,000&

3,360,000&

HH A

Mo R

18,310

14,950
5,980
2,691
6.279
3,360
1,344

605
1,411

202 04l

Mo R

4,600
1,840

828
1,932

4,000

600

4,600,000

MW

4,600
4,600
4,600

1,840
828
1,932

4,000

600

206 M= Hl

A

60,125
24,050
10,823
25,252

64,900

N4 TT5

01 M= dl
O=HIE= ALY

— W QI & 3 EHI (700H)

[
[P
W
>
Ho
=
0z
™
tol

— =X

[l

ton

FXHS A 3HebH (25021 E)

35,000,000&

t 22 =(603)

24,000,000&

1,125,000

Mo R

Mo H

Mo

60,125
60,125

35,000
14,000

6,300
14,700

24,000
9,600
4,320
10,080
1,125
450
203
472

64,900

N4, 775

401 AIEBIZ 2 CHYI

U RN

368,246
147,299

66,284
154,663

368,246

01 A& HI

10,000, 000&

H

365,720
365,720

10,000
4,000

365,720




A
B NN 84
chel: MEE Bsal (chel & 9l)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
< 1,800
s 4,200
— SogEI I (1) 14,000, 000& 14,000
= 5,600
= 2,520
s 5,880
—M2YX 0lZZ2H X4 (2ha) 8,494,000 8,494
= 3,398
< 1,529
e 3,567

— AR AISN 2 X (1HA)

158,848,000 158,848
= 64,000
< 28,800
a 66,048

— AE202AIIIM 2 A (1IHA)

59,460,000 59,460
=2 24,000
[~ 10,800
z 24,660
—MEYX AL AsE A1)
114,918,000 114,918
=2 46,301
[~ 20,835
z 47,782
03 Al& 201 H 2,526 0 2,526
OZHIEX ALY 2,526
— AFE2012FAIDM0I2 AXI(1IHA)
160,000,000 *0.72/100 1,152
— AFER012FAIDM0I2E A (1IHA)
60,000,000 0.90/ 100 540
— A2 SHAE ASE AX(10)
115,752,000 0.72/100 834
405 RHAHE SHI 75,300 80,000 A4,700
= 30,120
[ 13,554
2 31,626
01 THAtY 2 E F SH 75,300 80,000 A4,700
O=2HI B X ALY 75,300
— DI HSHAETBIAI A AS(10H)
3,500,0002! 3,500
=2 1,400
[~ 630
z 1,470
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